1. You have met a pixie and she offers you two optlons.

Choice A: You can have $10 and a 3% increase every year for 20 years:

Choice B: You can have $25 with an extra $10 every yeat for 20 years.
f?
Find the total amount for Choice A and Choice B. Which one would you choose’

(hoice A "Zi [0 (1,05)” - 1200, 10

N

= gﬁt ' e \\
Choice & 5 g5+ (k1) 7 ﬁﬂb

e

/ ’,-——
B ———
/ = —————
. _,.'—’
——
— T ————— — S ——— - —

2. Every day Ami‘t;’;baker-y. seﬂs 3 gore cobkies than they did the day before. If they sell 3
cookies on the first day, how many cookies would they have sold after 30 days?
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3. Sarah has made a deal with her sons, William and Phillip. For everyday William behaves, he
will get four more Skittles. Everyday Phillip is good, he will get twice as many Skittles as the
day he had betore. William starts with 30 Skittles and Phillip starts with 1. How many days will

'+ take for Phillip to have more Skittles than William? o
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